AP Calculus
Unit 2 — Conceptualizing the Derivative

Day 1 Notes: The Difference Quotient
(A First Look at the Derivative)

Today we are introduced to the concept with which we will spend our greatest amount of time
investigating in Calculus AB—the derivative.
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Find the equation of the tangent line to x) at each of the points below. Then, draw the graphs of the
tangent lines on the grid above where f{x) is graphed.
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When you hear “DERIVATIVE,” you

LINE.”

When you hear “SLOPE OF THE TANGENT LINE,” you think
“DERIVATIVE.”
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Example 2:

for the functions given below to find and use f'(x).

f(x)=~x+2
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Find the equation of the line tangent to the graph of

f(x)=+/x+2atx=7.
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Find the equatlon of the line tangent to the graph of

f(x)= atx=1.
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